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Comprehension:
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4.0
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421236782
Option 1 1D : 34212326409
Option 2 ID : 34212326410
Option 3 ID : 34212326411
Option 4 ID : 34212326412

Status : Answered

Chosen Option: 1
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Comprehension:

39 difcieT H U U= T8 ERTaW 2020 ¥ 2023 & & IR a8 & GRM diF UHR &
UebI=IHI, Y&ich, Ufiehl d Si-{cll &1 feishl & Hfofd eied (z <irRd H) <=ifar 141 ¢ difeispt H
U&d ST & TR TR 377 Ye 71U Uil b IR S -

IS @1 94 dR fdarof
- g & faspl 9 U Tee (2 drd H)
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2020 45 35 70
2021 47 40 80
2022 40 42 87
2023 40 54 79

SubQuestion No : 2
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4.% 177. 095 <9
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3421236783
34212326413
34212326414
34212326415
34212326416
Answered

1




Comprehension:

39 difcieT H U U= T8 ERTaW 2020 ¥ 2023 & & IR a8 & GRM diF UHR &
UebI=IHI, Y&ich, Ufiehl d Si-{cll &1 feishl & Hfofd eied (z <irRd H) <=ifar 141 ¢ difeispt H
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SubQuestion No : 3
Q.3
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1. 46%

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3421236781
34212326405
34212326406
34212326407
34212326408
Answered

1




Comprehension:

39 difcieT H U U= T8 ERTaW 2020 ¥ 2023 & & IR a8 & GRM diF UHR &
UebI=IHI, Y&ich, Ufiehl d Si-{cll &1 feishl & Hfofd eied (z <irRd H) <=ifar 141 ¢ difeispt H

U&d ST & TR TR 377 Ye 71U Uil b IR S -

IS @1 94 dR fdarof
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2023 40 54 79

SubQuestion No : 4
Q.4
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1.21%

2. 28%

3.15%

4. 11%

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236784
34212326417
34212326418
34212326419
34212326420
Answered

1




Comprehension:

39 difcieT H U U= T8 ERTaW 2020 ¥ 2023 & & IR a8 & GRM diF UHR &
UebI=IHI, Y&ich, Ufiehl d Si-{cll &1 feishl & Hfofd eied (z <irRd H) <=ifar 141 ¢ difeispt H
U&d ST & TR TR 377 Ye 71U Uil b IR S -

IS @1 94 dR fdarof
- o @t faet O e 3o 2 ard )
EL| BiEED] i)
2020 45 35 70
2021 47 40 80
2022 40 42 87
2023 40 54 79

SubQuestion No : 5

Q.5 o ¢
9 7 9 forg o 71 77d 96 1 Je1 1 Sl @) 9! U Uik Ieied 1 3=dad uRddA fears
adrg?
1.2020
2.2021
3.2022
4.2023
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3421236780
34212326401
34212326402
34212326403
34212326404
Answered

4




.6
Q Match the List-I with List-IT

{De';gg nim) ILIST II (Appropriate
A | A storage medium that stores data on the Internet I. |RAM
B. | Internal storage where the current instructions are stored II. |Cloud Storage
C. | A solid - state storage that 1s used in digital cameras III. | Blu-rav Disc
D. | An optical storage medium that stores high - definition (HD) movies | IV. |Flash Memory

Choose the correct answer from the options given below:
1. A-II, B-1V, C-1, D-1II
2. A-III, B-1V, C-I, D-II
3. A-IL, B-I C-IV, D-III

4. A-1, B-11, C-II1, D-IV

Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D
Option 4 ID
Status
Chosen Option

MCQ
3421236814
34212326537
34212326538

1 34212326539
: 34212326540
: Answered

13




7
Q Match the List-I with List-IT

LISTI LISTII
(Concept) (Description)
A | Audience impenialism | I |Mediated aggression to reduce people's aggressive behaviour
B. |Catharsis II. | Selecting news sources based on ideology
C. |Siloing III. |Early media exposure of the world to children
D. |Early Window IV. | Too much preference to audience activity

Choose the correct answer from the options given below:
1. A-I, B-1I, C-III, D-IV
2. A-II, B-III, C-IV, D-1
3. A-IIL B-1V, C-1, D-II

4. A-IV, B-1, C-II, D-III

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421236799
Option 1 ID : 34212326477
Option 2 ID : 34212326478
Option 3 ID : 34212326479
Option 4 ID : 34212326480

Status : Answered
Chosen Option : 4




Q.8

With reference to the computers, which of the following statements are correct?

A. CPU follows fetch-decode-execute-store cyele to run instructions.

B. Intel and AMD are two manufactures of CPUs

C. The clock speed of a CPU is usually measured in Megabytes

D. Fans are required to cool down most CPUs so that they do not overheat

E. CPU is the brain of the computers and modern CPUs cannot have multiple processing cores.
Choose the correct answer from the options given below:

1. A, B, CandD Only

2. Aand B Oaly

3. Cand D Only

4. A, B and D Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236813
Option 1 1D : 34212326533
Option 2 ID : 34212326534
Option 3 ID : 34212326535
Option 4 ID : 34212326536
Status : Answered
Chosen Option : 4
Qs Atomism was propounded by which of the following schools of Classical Indian Philosophy?
1. Advaita
2. Vaigesika
3. Buddhists
4. Samkhya
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236823
Option 11D : 34212326573
Option 2 ID : 34212326574
Option 3 ID : 34212326575
Option 4 ID : 34212326576
Status : Answered
Chosen Option : 1
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1. famm
2. hddh
3. STy
4. grerstiaf
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236819
Option 1 ID : 34212326557
Option 2 ID : 34212326558
Option 3 ID : 34212326559
Option 4 1D : 34212326560
Status : Answered
Chosen Option : 2
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1.A,B.C.D
2.A,B,D,C
3.B.A.D,C
4.B.D, A, C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236792
Option 1 ID : 34212326449
Option 2 ID : 34212326450
Option 3 ID : 34212326451
Option 4 ID : 34212326452
Status : Answered
Chosen Option : 3




Q.12
!'\-‘
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Options 1. 1
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236789
34212326437
34212326438
34212326439
34212326440
Answered

2

Q.13

1. 37.8 300
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Options 1. 1
2.2
3.3
4.4
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236801
34212326485
34212326486
34212326487
34212326488
Answered

3




Q.14

Which of the following are associated with heavy use of Internet?

A. Internet addiction
B. Depression

C. Distraction

D. Atomization

E. Media Literacy

Choose the correct answer from the options given below:

1. A, B, C,D Only
2.B,C, D, E Only
3. A, B.E Only

4. A, B, C.EOnly

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236798
Option 11D : 34212326473
Option 2 ID : 34212326474
Option 3 1D : 34212326475
Option 4 ID : 34212326476
Status : Answered
Chosen Option : 4
Q.15
18T R =i, 2020 # FARIRIT BT HHS U < B SR3d W & fqar 747 -
1. R SIS SUHTSTY (diferdn)
2. fodwd gich v
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236821
Option 1 ID : 34212326565
Option 2 ID : 34212326566
Option 3 ID : 34212326567
Option 4 ID : 34212326568
Status : Answered
Chosen Option : 4




Q.16

Which one of the following is an example of positive feedback in the context of climate change?
1. Warmed earth radiates more infrared energy (heat) into space
2. Plants remove carbon dioxide from the air
3. Oceans remove carbon dioxide from the air

4. Snow cover and ice shelf melting reduce reflection of sunlight

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236817
Option 11D : 34212326549
Option 2 ID : 34212326550
Option 3 ID : 34212326551
Option 4 ID : 34212326552
Status : Answered
Chosen Option : 1
Q.17

What is the contribution of Douglas Engelbart in the evolution of computer?

1. Developed the first mouse
2. Developed the first Operating System (OS)
3. Developed the first Vacuum Tube

4. Developed the World Wide Web (WWW)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421236810
Option 1 ID : 34212326521
Option 2 ID : 34212326522
Option 3 ID : 34212326523
Option 4 ID : 34212326524
Status : Answered
Chosen Option : 2




Q.18

UNFCCC (United Nations Framework Connection on Climate Change) was outcome of which of

the following meetings?
1. Montreal Protocol
2. Stockholm Conference
3. Rio Summit

4. Kyoto Protocol

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236815
Option 11D : 34212326541
Option 2 ID : 34212326542
Option 3 ID : 34212326543
Option 4 ID : 34212326544
Status : Answered
Chosen Option : 1
Q.19
Mass Communication as a discipline has drawn ideas from
1. Physics
2. Chemistry
3. Philosophy
4. Material Science
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236796
Option 11D : 34212326465
Option 2 ID : 34212326466
Option 3 ID : 34212326467
Option 4 ID : 34212326468
Status : Answered
Chosen Option : 3
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1. MQORN
2. MQNRO'
3. NQMOR

4. QMONR

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421236802
Option 11D : 34212326489
Option 2 ID : 34212326490
Option 3 ID : 34212326491
Option 4 ID : 34212326492

Status : Answered

Chosen Option : 2

a2 U MY HeeRad YN H Usg “SOUND” Dl “VLXKG' U Hicd 31 SIIdT 8, 74 Usg
“TRAIN” &I &€ g

1. VQWPF

2. WQDGQ

3. WODEQ

4. VODGQ

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421236803
Option 11D : 34212326493
Option 2 ID : 34212326494
Option 3 ID : 34212326495
Option 4 ID : 34212326496

Status : Answered

Chosen Option : 3




Q.22

suitable for this purpose?
A. Canva
B. Quizlet
C. Book Creator
D. Flipgrid
E. Adobe Illustrator
Choose the correct answer from the options given below:
1. B, C and D Only
2. A, CandE Ounly
3.B,Dand E Only

4. A and C Ounly

A language teacher wants to create visually appealing presentations / lessons with embedded
videos and interactive slides to enhance online lessons. Which of the following tools are most

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236787
Option 11D : 34212326429
Option 2 ID : 34212326430
Option 3 ID : 34212326431
Option 4 ID : 34212326432
Status : Answered
Chosen Option : 4
Q.23 . . . : . .
The Mashelkar Committee recommended upgradation of Regional Engineering Colleges into:
1. National Institutes of Technology
2. National Technical Institue
3. National Engineering Colleges
4. National Technical Colleges
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236820
Option 1 ID : 34212326561
Option 2 ID : 34212326562
Option 3 ID : 34212326563
Option 4 ID : 34212326564
Status : Answered
Chosen Option : 3




Q.24

Which of the following tvpes of validity is mainly concerned with the issue of causality?

1. Measurement Validity
2. External Validity
3. Internal Validity

4. Ecological Validity

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236791
Option 1 ID : 34212326445
Option 2 ID : 34212326446
Option 3 ID : 34212326447
Option 4 ID : 34212326448
Status : Answered
Chosen Option: 1
Q.25 . . . . . .
Which one of the following rotors is commonly used for electricity generation?
1. Savonious rotor
2. Darrious rotor
3. Propeller rotor
4. Multiblade rotor
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236816
Option 11D : 34212326545
Option 2 ID : 34212326546
Option 3 ID : 34212326547
Option 4 ID : 34212326548
Status : Answered
Chosen Option : 1




Q.26

Options 1. 1
2.2
3.3
4.4

A. Rajkot College, Rajkot

B. Civil Engineering College, Roorkee
C. Sanskrit College, Calcutta

D. Sanskrit College, Benaras

E. Fort Williams College, Calcutta

Choose the eorrect answer from the options given below:

1.A,B,E,D,C
2.C,A,B,E,D
3.D,E,C,B,A,

4.B,C,A,D,E

Identify the correct chronological order of the following institutions of higher learning?

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236824
34212326577
34212326578
34212326579
34212326580
Answered

3

Q.27

Options 1. 1
2.2
3.3
4.4

1. Animals, Vertebrates, Birds, Sparrows
2. Sparrows, Birds, Vertebrates, Animals
3. Animals, Birds, Vertebrates, Sparrows

4. Sparrows, Vertebrates, Birds, Animals

Which of the following are arranged in the order of decreasing denotation?

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236808
34212326513
34212326514
34212326515
34212326516
Answered

2




Q.28

Options 1. 1
2.2
3.3
4.4

1
2. Chi-Square
33k

4.F

The numerator and denominator degrees of freedom are used in the computation of which of the
following test statistics?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3421236794
34212326457
34212326458
34212326459
34212326460
Answered

3




Q.29

The characteristics of cool media are:

A. High participation

B. Low definition

C. High definition

D. Small amount of information
E. High amount of information

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A, B, C Only
2. B, C.D Only
3.C,D, E Only

4. A, B, D Only

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236797
34212326469
34212326470
34212326471
34212326472
Answered

1




Q.30 Identify the sequence of words A-E that correetly fills the blanks in the following paragraph on

computer networking:?

TPv4 addresses are long, and TPv6 addresses are

other hand, is long. A MAC address is oriented - towards
oriented - towards

long. The MAC address on the
. whereas IP address is

A. 128-bit
B. 32-bit

C. software
D. hardware
E. 48-bit

Choose the correct answer from the options given below:

1.B,E,A,D,C
2.B.AE.D.C
3.E,B.A,C.D
4.A,B,E,.D,C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236812
Option 11D : 34212326529
Option 2 ID : 34212326530
Option 3 ID : 34212326531
Option 4 1D : 34212326532
Status : Answered
Chosen Option : 1
Q.31 The contents of Swayamprabha Channel - 23 with the theme of “Humanities and social sciences”
are provided by :-
1. IIT Kanpur
2. IIT Madras
3. IOT Tirupati
4. IIT Bombay
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236785
Option 1 ID : 34212326421
Option 2 ID : 34212326422
Option 3 ID : 34212326423
Option 4 ID : 34212326424
Status : Answered
Chosen Option : 1
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LI
L. GRHATTHS
2. TUMTHE
3. SHATHS
4. I ATHD
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236790
Option 1 ID : 34212326441
Option 2 ID : 34212326442
Option 3 ID : 34212326443
Option 4 ID : 34212326444
Status : Answered
Chosen Option : 2
Q.33 . . L .
In the period of subject English, in a class, Ram is able to recall the author of the book ‘The
diary of a young gurl’. This type of memory is called
1. Procedural
2. Semantic
3. Episodie
4. Constructive
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236786
Option 1 1D : 34212326425
Option 2 ID : 34212326426
Option 3 ID : 34212326427
Option 4 ID : 34212326428
Status : Answered
Chosen Option: 3




Q.34

Which of the following statements are logically equivalent?

A. All non-trees are non-animals
B. No animals are trees

C. Some animals are not trees
D. No trees are animals

Choose the correct answer from the options given below:

1. Aand D Only
2. Aand B Only
3. B and D Only

4. B and C Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236807
Option 1 ID : 34212326509
Option 2 ID : 34212326510
Option 3 ID : 34212326511
Option 4 ID : 34212326512
Status : Answered
Chosen Option : 3
.35
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2. FEfa ag
3. W Ye! giyg
4. 3 TITYd 998
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236793
Option 1 ID : 34212326453
Option 2 ID : 34212326454
Option 3 ID : 34212326455
Option 4 ID : 34212326456
Status : Answered
Chosen Option : 4




Q.36

A. The National Institute of Fashion Technology. New Delhi

B. National Institute of Design

C. Indian Institute of Advanced Study, Shimla

D. National University of Education Planning and Administration (Neupa), Delhi
E. Rashtriya Sanskrit Vidhyapeetha, Tirupati

Choose the ecorrect answer from the options given below:

According to Department of Higher Education, MInistry of Educaton (Gol), which of the
following are considered as the Institutions of higher learning?

1.A. B, C Only
2.B,C,D Only
3. A, B.D Only
4.C.D, E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236822
Option 1 ID : 34212326569
Option 2 ID : 34212326570
Option 3 ID : 34212326571
Option 4 ID : 34212326572
Status : Answered
Chosen Option : 3
Q.37
YR - « Ueb UTd T Soid= BId1 81 3(d: Uld o il Uil § sead= glarg 1
9 o ¥ BH 91 By SR &1 TR iR & favg ¥ §gi gl
1. 30 faufaa e gl
2. 390 sFRId AN g
3. 300 e G gIv g1
4. 98 IR - dDHNYY HYF |
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236805
Option 1 1D : 34212326501
Option 2 ID : 34212326502
Option 3 1D : 34212326503
Option 4 ID : 34212326504
Status : Answered
Chosen Option : 1
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1199
2,209
3.219¢
4.204¢
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236804
Option 1 ID : 34212326497
Option 2 ID : 34212326498
Option 3 ID : 34212326499
Option 4 1D : 34212326500
Status : Answered
Chosen Option : 1
Q.39 . . o . . . . -
Interpretation of a media text, which is in variance with the original creator's intention is
described as
1. Impersonal decoding
2. Aberrant decoding
3. Above-the-line decoding
4. Unequal decoding
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236795
Option 1 1D : 34212326461
Option 2 ID : 34212326462
Option 3 1D : 34212326463
Option 4 ID : 34212326464
Status : Answered
Chosen Option: 1




Q.40

C

A. If one is true, the other must be false
B. They cannot both be false

C. If one is false, the other must be true
D. They can both be true

hoose the correct answer from the options given below:

l. Aand C Only
2. B, C and D Only
3.A.Band C Only

4. Aand D Only

Which of the following statements are true regarding sub-contrary propositions?

Chosen Option :

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236806
Option 11D : 34212326505
Option 2 ID : 34212326506
Option 3 ID : 34212326507
Option 4 ID : 34212326508
Status : Answered
Chosen Option : 1
41 ; :
Q 20 T, 10 ¥, 5 T, 2 U 3R | ¥9 Geai & [Gab| & Y98 &1 Hd e 570 ¢ 1 A1G
Udld Jedatl & [ad| &1 S8 99 . 1 | S dldl [¥deh! & S R g 2
1. 10
2.12
3.15
4. 18
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236800
Option 1 1D : 34212326481
Option 2 ID : 34212326482
Option 3 ID : 34212326483
Option 4 ID : 34212326484
Status : Answered
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Q.42

In the context of computer networking, which of the following best describes the transmission of
a message using packet switching?

—

. Data packets may follow different routes and may arrive at different times in different order.

order.

. Data packets will always follow the same route but could arrive at different tumes in
different order

. Data packets will always follow the same route and arrive at the same time in the same

4. Data packets may follow different routes but will always arrive at the same time in the same
order.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236811
Option 11D : 34212326525
Option 2 ID : 34212326526
Option 3 ID : 34212326527
Option 4 ID : 34212326528
Status : Answered
Chosen Option : 4
Q43 . o - .
What is a key principle in designing authentic assessment?
1. Standardizing assessment tasks to ensure fairness
2. Focusing on assessing only basic knowledge
3. Integrating real - world contexts and tasks into assessments
4. Using only traditional assessment methods like tests and quizzes
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236788
Option 11D : 34212326433
Option 2 ID : 34212326434
Option 3 ID : 34212326435
Option 4 ID : 34212326436
Status : Answered
Chosen Option: 1




Q.44

Which one of the following is not among “three Rs™ a slogan: for solid waste management

1. Reduce
2. Recover
3. Recycele
4. Reuse
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236818
Option 11D : 34212326553
Option 2 ID : 34212326554
Option 3 ID : 34212326555
Option 4 ID : 34212326556
Status : Answered
Chosen Option : 1
Q.45 . ‘ . . . . .
Which of the following arguments is fallacious because the middle term is non - exclusive?
1. All things are non-eternal, because they are knowable.
2. The hill has fire because it is knowable.
3. Fire is cold because it is a substance.
4. Sound is eternal because it is produced.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236809
Option 11D : 34212326517
Option 2 ID : 34212326518
Option 3 ID : 34212326519
Option 4 1D : 34212326520
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Option 4 ID : 34212326636
Status : Answered
Chosen Option : 2




Q103 e e & SHR 9 HYA §
A. “Tre 3ff=er &l WSt o foman T Uy g
B. "SidHl &1 Gl 3R eIl g 3R geiU &l Y-adl @g Ryl ¢ 1" gg by plerr ol
niFaN g gl
C. 39 30N § Pl 67 WUS g
D. 39 SUIN ¥ HIORICIe! & @i Iegderal @ <& Sidh &gd g
E. U 6 39 71id 1§ [{1g D131 IS | A0 2=b g1 § 1" DU dg SAlad! b1 g

i fau e fased! 7 9§ @67 SR &1 994 BIfT:
1. Had A, B C
2. HadAB, C, D
3. Had A, C.E
4. $ad C,D,E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236896
Option 11D : 34212326861
Option 2 ID : 34212326862
Option 3 ID : 34212326863
Option 4 1D : 34212326864
Status : Answered
Chosen Option : 2
Q.104
URAY( = BT - T &l G Tl 911 82
1.8
2.9
3.10
4. 11
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236843
Option 1 1D : 34212326649
Option 2 ID : 34212326650
Option 3 ID : 34212326651
Option 4 1D : 34212326652
Status : Answered
Chosen Option : 2




Q.105

SIYT & JaY J FHgfaRad aw ffed &

A. 3T0E 343 (1) D SUR YUY BI AoH gl SR fefd Sa=rRi grit
B. 17 5[, 1957 I AFUFCT §RTIASTHTST ATINT ST T3 b 1|

C. 3w¢ 350 H AW AT 3R 3= Al 3ie B N & AT g |

D. 3G 344 & STUR AFULT AT P T2H Ui 2R 4 TN & S ASTHINT SR

F1gad @R gaar g

E. 396 345 H U8 TR ¢ fdb 10 1 fau-isd faf¥l gR1 U a1 3118 Uieii®

TS g1 ige! &l SRBR] WaloH! & (o WIHR B2 bl |
i feu U f[qhedl § ¥ @87 3R &l 994 Bl

1. $dd A.B.D
2. PAA A, C. E
3. had A, C.D
4. PAdA, D, E

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :

: 34212326822

: 34212326823

: 34212326824

: Answered

Chosen Option :

Option 2 ID
Option 31D
Option 4 ID

Status

McQ
3421236886
34212326821

4




Q.106

T 1% 1Y G 11 61 feH SIfe

=] =
(STUTTT 31P)

|zmew | 1 | s e sgaa
Ry 3fap | I | T & g

dUTE | 1 |uR @ 3ed
gigal i@ | Iv. |f99T: te Bia® Hidsdl

A fqu e f[9& el § O 95t 3R &1 99 DI

1. A-IIT, B-II, C-1, D-IV

Olo|w|e

2. A, B-1, C-II, D-IV
3. A-III, B-IV, C-1I1, D-I

4. A-IL, B-III, C-I1, D-IV

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421236915
Option 1 1D : 34212326937
Option 2 ID : 34212326938
Option 3 ID : 34212326939
Option 4 ID : 34212326940
Status : Answered
Chosen Option : 2




Q.107

T 1% 1Y G 11 61 feH SIfe

A 13U 7T fadedl § O g5t IR &1 994 DI

Options 1. 1

2.2
3.3
4.4

el 11
RESEEQIY) GLICED)

A [HSH G ge@R | I |[FaRE

B. [WOF THER 11 [d=ra |y
C. |gufdd® III. |dRiER

D. MR &Y V. |gad e fHurdt

1. A-III, B-1I, C-1, D-IV
2. A-11, B-1V, C-111, D-1
3. A-IIIL B-IV, C-1, D-1I

4. A-1V, B-1, C-III, D-I1

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236911
34212326921
34212326922
34212326923
34212326924
Answered

3




Q.108

IR GRT TS HEH & IRYH & 916 Ul Jidd daR I I T g 6s 1 82

1. 397 AR R
2. 19T 3R 3R
3. UPId 3R g2y
4. 3Y 3R URT&AfT
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236852
Option 11D : 34212326685
Option 2 ID : 34212326686
Option 3 1D : 34212326687
Option 4 ID : 34212326688
Status : Answered
Chosen Option : 2
.109 ; i
Q “H AHAI g fd 319 AT el gU 3R IR 5. llch 3TU! 210+l S didhd T UgHI gIHl
IET [P SR 117 =TE AN YR BT 5 H=A BT AT 3T T S e § 1 g M9 & @l
1 8 S el 3R TRERT &1 =erd €17 78 S [ g I Aar &1 g2
1. SR fodd
2. AMUTAH W] TRde
3. 3Rfg= °IY
4. fagTdg ura
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236848
Option 1 ID : 34212326669
Option 2 ID : 34212326670
Option 3 ID : 34212326671
Option 4 ID : 34212326672
Status : Answered
Chosen Option : 1




Q.110

B &1 Uhei® S & T H Hgiaiad o fHad g

A.?ﬁwmaﬁ?mﬁwwmqﬁ@ﬂaﬁﬁ@ﬁmmm
|
B.?ﬁﬁ&mﬁlwﬁﬁm o, gwl-dl, Fr[ur.aur faul & Agayul Yifm gl

|

c. i Afdare= feel Hid Isafsd A

. 64l & faem # IeHifad uRfufadl sik nfafafiml &1 91 gy eIl

E. 3 e i =fF ¥ Heayul et o, Ul il ot wde s &1 faer

a5 gl

=i fau 7T fa@edl # ¥ W8T 3R & 99 SIg:

. %ad A, B, E
2. Bad A, B, D
3. %90 B.D.E
4.%4dd B, C,D

Options 1. 1
2.2
3.3
4.4

Question Type :
: 3421236887
Option 11D :
: 34212326826
: 34212326827
: 34212326828
: Answered

Chosen Option :

Question ID

Option 2 ID
Option 3 ID
Option 4 ID

Status

McQ

34212326825

2




Q.111

oY B Bl g -

A, TERIEN
B. 1 R TP Y
C ﬂ

D:ng{aargﬁ
E. YUgd

i R e fasodl # 9 &8 SR B1 99 BT
|. Had A D.E
2. HAdB. C.E
3. HdA A, B, C
4. PAdA.C.E

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236888
34212326829
34212326830
34212326831
34212326832
Answered

4




Q.112

Options 1. 1
2.2
3.3
4.4

|.BAd A, B, C
2. ®4dd B, C,D
3. ®Hdd B, D.E
4. PAAA,.C.E

feT & Tifd - A1y I # fafafad faRyar =fprd gidi § -

A. 3930 ¥ w1 - &8 o Ul 30T BT YId g |

B. 3431 UH 3R 4R & 3147 6] HId g

. 343 3R gl & oI U dgd refdid TR &1 g
D. 3920 30 Aaurd fR1%] B caHTd WY Bl gl

E. 34201 § Ifd faf &1 gR1gii 9gd 8|

A feu e [dedl H U g IR &1 99 B IfoIu:

Question Type :
: 3421236851

: 34212326681
: 34212326682
: 34212326683
: 34212326684
: Answered
Chosen Option :

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

McQ

2

Q.113

Options 1. 1
2.2
3.3
4.4

IRCEIG]
2. dIegd
3. HIcARY

ERCICE R

ﬁ%m&né@m%ﬁ&mﬂaﬁwﬁaﬁﬁﬁmw%r.uﬁaﬁaﬁmm
Hd< g2

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236854
34212326693
34212326694
34212326695
34212326696
Answered

4




Q114

Options 1. 1
2.2
3.3
4.4

DAl P [y &0 ¥ Hue ! Uifieldd ddardd Sfyafad & T4 YR S Tl 82
1. DAl S IgH U Y

2. Fdl & Ugd Hury
3. hdl b g 4T Y
4. Dl b IR &Y

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236869
34212326753
34212326754
34212326755
34212326756
Answered

4




Q.115

At 1D 1Y AT 11 T e i

e =
(Ur=)
A |TEs o SR L |f e
B. |9ed g5 HeeH L |<a feerl ot
C. |&H ®u & gerel! L |dfeq 9rew™
D. |d@ H-oR 3R Wad (5 & ST SRR | IV, | R @l
i feu T fqdedl H U gt SR &1 994 DifoU:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-IV, C-II, D-IIT
2. A-1, B-11, C-1V, D-III
3. A-L B-II, C-1, D-IV

4. A-IIL, B-1, C-II, D-IV

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236914
34212326933
34212326934
34212326935
34212326936
Answered

1




Q.116

3R AR Aledh H ARR] 3 & H g

1. ol
2. dV[X
3.}l JHI
4, HIA
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236860
Option 11D : 34212326717
Option 2 ID : 34212326718
Option 3 ID : 34212326719
Option 4 ID : 34212326720
Status : Answered
Chosen Option : 1
Q.117

YA AT H Y@t & Haral &1 g I 61 & H H T -

A. HIE ST, 39 @5 AR - Sia- & [e70 34 HgH S $I a8l |

B. 9% | qH B3 alIHl 3R I 9 9 &1 | ggl 9 dle S W i 31 8 T d &SGR | 5
Rl

C. Tl fthR TRT 3R qFeRT Sa--FR01 91 &1 i

D. 9% | B YT & AT6TR1 H qHdhd - Ul 3l 1 95 |

E. 30 DI &1 9% 7 UTdR U SfaTgcdl oiel Wi ol 781 ¢ |

=i flGu U fadhed! § 9 @87 IR &1 994 DI

1LABIDEC

2.AE.B,D.C
3. B, EACD

4.B,AE.D,C

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421236881
Option 11D : 34212326801
Option 2 ID : 34212326802
Option 3 1D : 34212326803
Option 4 ID : 34212326804

Status : Answered

Chosen Option : 2




Q.118

1.$ddB.C.D
2. HIA A, B, E
3. Hdd A, D, E
4. $AdB, D, E

Options 1. 1
2.2
3.3
4.4

BT HIST & eH H 9599Y & Iugad HY- G -

A. URITd BAIGRI H UGl BT SR a0 gl g

B. HT Udd HIAl & Hgol 3=5a ¢ |

C. YIAAIW HAIGRN H X1 &l ARY Bl 8|

D. H1d d1g o ®RUI T 34 g, 34 Bl HiGd ded ¢l
E. JTHI01 Y9 ST & el 3uged 31 5

A feu U famhed 5 9 a1 IR BT 99 DINIT;

Question Type
Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

Chosen Option :

: MCQ

: 3421236891

: 34212326841
: 34212326842
: 34212326843
: 34212326844
: Answered

1




Q.119

frafad 3 O feekiara TRa &1 30 187§ -

L. dRT

2. $gH HART

3. YMHIEGY
4. IS SH

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :

: 34212326629
: 34212326630
Option31D:
Option 41D :
Status :
Chosen Option :

Option 1 ID
Option 2 ID

MCQ
3421236838

34212326631
34212326632
Answered

4




Q.120

ST ARG I & Hay H 3d U 6 -

A. TSI IHHTE I 1R H YT UHBTRET & HRITUSH HH Sl T |

B. dg¢ddlc § G-Il T8l =y 4i|

C. XTSI AT I Uiy &1 &t fRien & faxieh o)

D. 35 -Hdle ST 3R 31c bR SRAIR DI I B |

E. ST ITHIEH I 4 YWRRY Sl & a9 G SH-<la Jam |

I fou U fodedl § U g8t 3R &1 994 SifSI:
|.$Hdd A B3IRE
2. Hdd B, C 3ARE
3. $Hdd B, D ARE
4. Hdd A, D 3RE

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421236893
Option 1 1D : 34212326849
Option 2 ID : 34212326850
Option 3 ID : 34212326851
Option 4 ID : 34212326852

Status : Answered

Chosen Option : 4

Q121 YR TDHR & AU [GUTT 61 1 - S &1 Hgrdl § <aliell [gdl Yaly 918 Ao iR
o TOR & -

1. dlici+g < arei

2. gHd I

3. [as g Al

4. gHd TERT

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3421236831
Option 11D : 34212326601
Option 2 ID : 34212326602
Option 3 ID : 34212326603
Option 4 ID : 34212326604

Status : Answered

Chosen Option : 2




Q.122

319 3 Aeh H Ugd Had & Giay | FaieiRad de fidd ¢ -

Options 1. 1
2.2
3.3
4.4

A. 31 TSHI Bl YD1 Tl A H TS |
B. 3U®[ Ugdl Ha =R A1e S¥i1 gR1 fhar |
C. 9@ 6 41 3 Ragd

D. Bl d3®! DI Y] 3 YR A US|
E. 24P Hed 1l 1969 5. H g3l

1 feu U fadmedl # ¥ G8T IR &1 99 BT

1.HddA A, C 3RE
2. $Had B, C IR D
3. $ad B, C 3RE
4.9ad A, B 3RE

Question Type :
Question ID :
1 34212326873

Option 11D

Option 21D :
: 34212326875
: 34212326876

Status :
Chosen Option :

Option 31D
Option 4 ID

mcQ
3421236899

34212326874

Answered
3




Q.123

IREI P A & UG & T TS 3P H ¢ -

A. DYHh
B. fddR
c.daRA
DRI

E. U&gioHl

A fGu T fadedl § O 3T 3Tk &1 994 SIfoTU:

1.D,E,B,A,C

2.C,A,E,D,B
3.E,A,D,B,C

4.4, C,B,E,D

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
3421236874
34212326773
34212326774
34212326775
34212326776
Answered

3




Q.124

A 1 b 1Y AT 11 BT A Pifore
A1 T 11
(T &) (3R
A |9 THTHS HledH L |[@¥a
B. [=rearif Tt ®rod Tei.ue @ da fgur I |y
C. [R=iar ufqueds: Wes: S L |4 e
D. (@7 TealST e eR Tehadl: Weard Tiddd | IV, [4fEd = sFmmy
i fou U fad el # O gl 3k &1 99 HIf:

Options 1. 1

2.2
3.3
4.4

1. A-L B-II, C-1IV, D-1II
2. A-II, B-III, C-IV, D-1
3 ATV, B-IIL C-1, D-1IT

4. A-IIL B-11, C-1, D-IV

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236910
34212326917
34212326918
34212326919
34212326920
Answered

3




Q.125

STel SUHYT ¥4 gl 391 IUHE gl gl ®i+ 91 PR gldl o2

Options 1. 1
2.2
3.3
4.4

IRCRIG
2. Udig
3. 34dg

4. 0D

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
3421236842
34212326645
34212326646
34212326647
34212326648
Answered

4




Q.126

A 11
(T F T 3%
A |AREF R | L | wEY @)
B |cdare @I o | 1 | s/fia
C. |&Ht 1. [T
D (= @l &l v, |
i feu U faded! § 9 Igt 3R &1 98 Hifo:

Options 1. 1
2.2
3.3
4.4

1. A-I, B-III, C-II, D-IV
2. A-II B-III, C-1, D-IV
3. AL B-1, C-1V, D-1II

4. A-1I, B-IV, C-1, D-III

'YRAINTAd U gl Ghdl g & TUR Ja! 1D 1Y Jal 11 1 5 Bifsrg

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

: 34212326952

Status :

Chosen Option :

Option 4 ID

MCQ
3421236918
34212326949
34212326950
34212326951

Answered
2




Q.127

TR IM BT e YIRS 1 313 Uil &1 Ul 35 6:

A. AMFg DIeRId At
B. UR S 1 TR RARI

C. dNTfd 3ae YgIag HRT
D. ST Uhig Uh gl

E. TR A9 URS S YdT

A feu e fad el § ¥ WgT 3R &l 994 DI

Options 1. 1
2.2
3.3
4.4

1.A,B,C,D.E
2.A,C,D,E,B
3.C,A.B,D,E

4.C,E,A,D.B

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
3421236883
34212326809
34212326810
34212326811
34212326812
Answered

1




Q.128

-SRI dWR e H UHE| & Ugd U d1g & Hdlg! &I gl 3 ¢

" feu T faeedl #§ U gt 3R & 9099 SIS

Options 1. 1

2.2
3.3
4.4

A. TRGuIdTel
B. hbaidldl

C. Ul-dIell

D. Aggardl
E. SRWATA

1. D, AE, B, C
2.D,E,AC,B
3.D,B,ACE

4.D,B,E A, C

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236882
34212326805
34212326806
34212326807
34212326808
Answered

3




Q.129

Options 1. 1
2.2
3.3
4.4

e B gt ATcd I TR & HYA ¢ -

A. T I8 SI0TT gegl dl el &1 Sdve alids HT &1 <l |
B. g 91 81 H 68 U0 &3dl . U9 G1-9R 9 d 781 81 U 37R R (g UuyH g3
UH &1 a7y Hi 181 g1

C. HET BT HIGT fads R T gicil? FI&T 3R Tel & Ta $S 81 ¢ | Bl B ATUR
o1 g faum 3R Ry &1 331

D. U%Y &1 Gay 931 I Wl & R il &1 gad 93510 & G2V |

E. G0 @gd ol b QA Siia- WR HTdarigd Il | 31 81 781 [l 3 idl a1 gH &g oiid
gl | 4 Y &1 9HY i 7971 TR7 deR aRR 91Y H91 el 99 W I g |

I feu U fashed! § U 8T 3w &l 9 S
I.@dd A, B 3R D
2. $dd B, D 3R E
3.$dd B, C 3R D
4.%ad A, C 3R D

Question Type

: MCQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

3421236900
34212326877
34212326878
34212326879
34212326880
Answered

4




Q.130

a1 S 1Y G 11 B feH SIfe

A 13U 7T fadedl § O Igt IR &1 994 DIfoIT:

Options 1. 1

2.2
3.3
4.4

kS GSit
(1c®) (GIE)]
A |[9=W L s
B. [Wheiu 11 |
C. |3fen il I [HifeT
D. |3{M8Tg &I UH fe | Iv. |oifen

1. A-IV, B-1, C-III, D-II
2. A-1IV, B-III, C-11, D-1
3. A-IIIL B-1, C-1IV, D-1I

4. A-1V, B-II1, C-1, D-I1

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236916
34212326941
34212326942
34212326943
34212326944
Answered

4




Q.131

T 1% 1Y G 11 61 feH SIfe

A fqu e f[9& el § O 95t 3R &1 99 DI

Options 1. 1

2.2
3.3
4.4

WTH(E%';TWI m

THI 1 1 | e
THI0T 2 I |UEFR &1 gHH
TH 3 1. | 3f@re H SHfiwarg
TR0 4 V. | S @1 o

olo|w|r

1. A-I, B-III, C-IV, D-TI
2. A-I, B-IV, C-IIL, D-II
3. A-IL, B-III, C-IV, D-I

4. A-11, B-1IV, C-11I1, D-1

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236913
34212326929
34212326930
34212326931
34212326932
Answered

3




Q132 e o A Sfefad FafEd o S e S A

A. UHGE gRT HICTH IR ATH B gl [eRa- UR Ueh AR HIRA 4 &Y &R A1
B. G &dl &1 Ugell deHl -Uey 64 H USIiRId g3 |

c. TR ¢t U e &vd gu iIRmR g2

D. TG4 & AR gal Y9 I Sil &1 IFEIEET o1 9igd ¥ i d YR & 9ad a9

Taigdr [y 7id i Igeiy Hrwcl i 2
1. el
2. cfgd

3. BRAR
4. GIAdEG

AR U
E. "iige gyl 1 Hifd7 & feiu Uude ugell aR el oird g
i feg e et # § 78T TR 1 70 BT
1.LA.D.C.B.E
2.A,B,D,E,C
3.B,A.D,C.E
4.B,D,AC,E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236885
Option 11D : 34212326817
Option 2 ID : 34212326818
Option 3 ID : 34212326819
Option 4 1D : 34212326820
Status : Answered
Chosen Option: 1
Q.133

Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option :

MCQ

: 3421236870

: 34212326757
: 34212326758
: 34212326759
: 34212326760
: Answered

2




Q.134

Y F1 80 ¥ el Fafaiad Tu & T 98 ol & 999 i

A. THY 1 g9 [oRg- &1 f[IaR AR Sit &1 Hg SId & 91 §1d $HRd gU A1 41|
B. Gigladl iR idrach # gerl & siid--Hid! @ dR W e g1
C. I | gl & o RIM & U | ISR S i fear gl

D. 39 ST & ferg- ¥ Ugd AR St 7 “®fda@dr 3R aTaufier & 9l 9k ) Ue1

E. YYSRETH Sl “Hd IS IRa & d@d A &ld g
il fau U faded § ¥ @87 SR &1 99 BT

Options 1. 1
2.2
3.3
4.4

|.HAd A, B, C
2. %dd A, C.D
3. %9d B, C.D
4.9dd C, D, E

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

Status

mcaQ
3421236895
34212326857
34212326858
34212326859
34212326860

4




Q.135

D Id & IR A’ & AT Td YHUl b 3R TR

T 1% T G 11 1 HEH Biforg
A & I
(AT L)
A |y ST @ T SR e U fa @1 erfaufa | 1| e o gaed @ Uuy
B. |UMH fEga g fanie I | - Jaue
c. |f%- ol g 111 |4l SRl o GHTTo® TE
D. | HRd H&pid 3R R IV, | 34 - i 9y
- feu T fas et H ¥ Hel ST BT 997 DT

1. A-IV, B-1, C-III, D-TI
2. A-IV, B-III, C-I, D-II
3. A-IL B-III, C-1, D-IV

4. A-IL, B-1, C-1I1, D-1IV
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236919
34212326953
34212326954
34212326955
34212326956
Answered

1




Q.136

Options 1. 1
2.2
3.3
4.4

oY U9 4TS 9931 AIfg d $1e SR YR 731
UsTdd | g8 S fbddh gR1Bel TG -

L. 3fCI3E
2. IdGT

3. SR YH
4. RTHGT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

McQ
3421236836
34212326621
34212326622
34212326623
34212326624

: Answered
Chosen Option :

2




Q.137

TR} fasad g 1 9 v g
A. YR & ATcial & A1 TR Sgl debl H U@ Ardar, dgi fdsad i 394 da 181 31

B. fadsad 7 Tregdrel 9-10 99 Idd ¢, 9o Woa? dIcl Gl-diF 9eTId 3gd gl ga ad g
c. Toeaa o WRiga URdr gt &1 gl fagR-ISan R 9madt Siid o it 21d o oot

gl

D. 3% o AHIR] Bl AUTd H S0 Hod g SR 39D 3ald & 9llg Hel oIl g

E. HIfeTT ST g4 (31T & </ H W - T $T il & 3 o ¥ 9gd Res d 6|

-iid feu e fadmedl 3 ¥ @od Sugad 3 &I 994 I

1. $ad A, B.D
2. HAd A, C.E
3. $adB.D,E
4. $HddB.C.D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236904
Option 1 ID : 34212326893
Option 2 ID : 34212326894
Option 3 ID : 34212326895
Option 4 ID : 34212326896
Status : Answered
Chosen Option : 3
.138 % <
Q 24 Uil & HEH Siigd & 9d a4l g7 81 39 siial | ored &3 & feU Sila - W &1
g off vl 11 - <3G &1 U (& e Pl 3ad HalG [had! g2
1. ol
2. Afcedl
3. BIfeard
4. fqd|
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3421236862
Option 1 ID : 34212326725
Option 2 ID : 34212326726
Option 3 ID : 34212326727
Option 4 ID : 34212326728
Status : Answered

Chosen Option :

1




Q.139

DI g Thd I g1Y|
19 ®ife gd gid fthd T 81 81 81 1Y 1 | - YR Gazr Aledh | Jad 70id [y 3 1 g2
1. Ofga 3
2. QIR 3
3. IR 3
4. YT 3id>
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3421236863
34212326729
34212326730
34212326731
34212326732
Answered

1

Q.140

Options 1. 1
2.2
3.3
4.4

fFafeiad 9 O fog $fd &1 -[S<Til &1 U h sl 7 Sl T g2

1. gefedn
2. U dhgHI gg i

3. /1Y FT TG He

4. Mgl

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236868
34212326749
34212326750
34212326751
34212326752
Answered

2




Comprehension:
FrafaRad samu o aFYd® ufen iR dafia vyl & I difve:

Hale T &1 Eed A5 g1 Faigd &I 4 § Gad! JAd 3R IgH Y g, gad
OREcH | gag URadH SRR, QY& 3R AR &1 TefaR & 9d W & 8, 9 3R
SN T BT ¢ GO 1M I5i- AR AFT ¢ qUl 99 9% H U@ g1 o 3l i
HR B TR 3R T TUT HI Ud 3 SGuTiRal Bl Uhdl WIHR &I g1 AgHr H SHad
N BT AHIE & 7L, UF 3T guife +i 31 78 99 @ Aie, e snfe A fim gl g 1 2w
SIS T SR-cnT, GRrER UM SR Ul (619 1 &1 9999 ¢ | 39 9099 &1 Ugell d o,
Sl MG B §, GO dWId HIGAT ST UG § 3R AR d Wya: fidl o1 JHE § | U8
S D1 Uit & fw TMielt 3 31 Bl AW D AHI g AR AHAYNS & 61U 2= "al Bl
Uifd 318 & AT &l R IS |

24 oRE Tl & SiiaaRH A 3R dU &1 U g 921 Y1 3R 36 &1 [dREPR | Hel §
1t 3517 R IR I W & 99 381, Yex B 35 37 a1 T A1 al A JF1 31 SRdiaR
fobar |

U HRUT FHA Bl & [0 S GGl & Ui Tiei-aE 1 S gyl el e | oRg
DAl HS ATl &b G | g1 A G, 3T iU GraHiE g, 7 98 Ul & Hide uga
T, Tg il S BT 2ATIE U7 | HdAThR Sl & Ufd 0 Soal & 999§ 9od 9ied 18,
Tt B AT TNl TG B Tl | ol B ¥ &1 Sare] T 3 SHSBT ST
WaR $l, Dl o gray ifa, fRdeidr 3k Iuifiar 4 =3¢l 2, daa di<f 9 g - a8
BT Ured 3R Hdl DI 9 THH o ¢ T g Sl U Hdl & 3R 48 Ured § 3R a8
=fifer. feqeivar 3R Suzifirar § firg 7t €1 Gl e & 3uR Fiid sefu Ay & fp -0

U SIR Hfd® 33fd o 9eEs g |
SubQuestion No : 141
Q.141
ST ARl & SATYR UR AT D1 UG & [T Ha=4d HHI 1§ 2
1. HIg &1 AN
2. Y pI AN
3. Baed I AR
4. 3[g BT AN
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3421236923
34212326965
34212326966
34212326967
34212326968
Answered

4




Q.142

Comprehension:
FrafaRad samu o aFYd® ufer iR Safia vyl & I difve:

Haled T &1 gD e g1 Haied $ Y § Gad! JAd 3R I9H] &Y g, gad
GREcH | gag URadH SRR, QY& 3R SR &1 TefaR & 7d W & ¢, 9d 3R
SN T BT g1 GO 1M I5i- AR AFT ¢ qUl 99 g% H U g1 o 3l i
HR B TR 3R TS TUT HI Ud 3 SauTial Bl Uehdl WIHR &I g1 3AgH | SHad
N BT AHIE & 7L, UF 3T guifed +i 31 78 99 @ A, e s A fim gl g 1 2w
ST H SRR, TRIER UH SR gul (HSBRT 4Td &1 G- ¢ | 39 YH-a4 &1 Ugell dd o,
Sl 3G B §, GO dWId HIGAT $I UG § 3R AR d Wya: Hidl o1 JHE § | U8
g Bt it & faw el 3 31 BT AW S AHT g AR AHAYNS & 6T 2= Iadl B
Uifd 318 & A &I SR TS |

24 oRE Tl & SiiaaR A 3R dU &1 U g 921 Y1 3R 36 &1 [REPR | Hell §
1t 3517 R SIR U W & 99 &, Yex &I 35 37 aF1 ¥ A1 dl S JF1 a1 SRdlaR
febar |

U BRYT S Bl & o o fidl & ufa mieh-a=H 7 oS geryfa 78 firad | oRg
DAl HS ATl &b AT H g1 A 3G, 39D U GraHiE g, 3 98 Ul & HiHde ugd
T, Tg il S BT 2ATIE U7 | HAThR Sl & Uld 0 Soal & 999§ 9d 9ied 13,
Tt B AT TNl TG B Tl | ol B ¥ &1 Sare] T 3 SHSBT ST
WiaR oI, Dol o gray Hifa, iRdeivdr 3k Iudifiiar 4 ¢l ¢, daa di<f 9 ¢ - a8
Tl Grad 3R Hdl Bl 9 THIH ST ¢ T ol a9 hdl &l 3R 45 r<ed ¢ 3R a8
. eaeifar 3R STEfiar I firg 7 8 dban e & 3 uR Wi sufiu 98 € 5 -7
T SR Afae SAfa W s g |

SubQuestion No : 142

Options 1. 1

SUdd R0 & YR TR i Y9 i gial g2
. Fifid G498 Sl |
2. Giiid St glar g
3. Giild OIS ifd e SRl gl
4. 1T 3R Afde 39d & I8 ¢
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status
Chosen Option :

McQ
3421236926
34212326977
34212326978
34212326979
34212326980

. Answered

4




Comprehension:
FrafaRad samu o aFYd® ufer iR Safia vyl & I difve:

Haled T &1 gD e g1 Haied $ Y § Gad! JAd 3R I9H] &Y g, gad
GREcH | gag URadH SRR, QY& 3R SR &1 TefaR & 7d W & ¢, 9d 3R
SN T BT g1 GO 1M I5i- AR AFT ¢ qUl 99 g% H U g1 o 3l i
HR B TR 3R TS TUT HI Ud 3 SauTial Bl Uehdl WIHR &I g1 3AgH | SHad
N BT AHIE & 7L, UF 3T guifed +i 31 78 99 @ A, e s A fim gl g 1 2w
ST H SRR, TRIER UH SR gul (HSBRT 4Td &1 G- ¢ | 39 YH-a4 &1 Ugell dd o,
Sl 3G B §, GO dWId HIGAT $I UG § 3R AR d Wya: Hidl o1 JHE § | U8
g Bt it & faw el 3 31 BT AW S AHT g AR AHAYNS & 6T 2= Iadl B
Uifd 318 & A &I SR TS |

24 oRE Tl & SiiaaR A 3R dU &1 U g 921 Y1 3R 36 &1 [REPR | Hell §
1t 3517 R SIR U W & 99 &, Yex &I 35 37 aF1 ¥ A1 dl S JF1 a1 SRdlaR
febar |

U BRYT S Bl & o o fidl & ufa mieh-a=H 7 oS geryfa 78 firad | oRg
DAl HS ATl &b AT H g1 A 3G, 39D U GraHiE g, 3 98 Ul & HiHde ugd
T, Tg il S BT 2ATIE U7 | HAThR Sl & Uld 0 Soal & 999§ 9d 9ied 13,
Tt B AT TNl TG B Tl | ol B ¥ &1 Sare] T 3 SHSBT ST
WiaR oI, Dol o gray Hifa, iRdeivdr 3k Iudifiiar 4 ¢l ¢, daa di<f 9 ¢ - a8
Tl Grad 3R Hdl Bl 9 THIH ST ¢ T ol a9 hdl &l 3R 45 r<ed ¢ 3R a8
. eaeifar 3R STEfiar I firg 7 8 dban e & 3 uR Wi sufiu 98 € 5 -7
T SR Afae SAfa W s g |

SubQuestion No : 143

.143 .
a FUd SGaRUl b SFTER T Ud = SIauIRAl &1 Ul &l WihR Bd gidl g2
1. GHE Y &1 1 3ifold He-1 9
2. GO ¥ &1 U fau™ I GdTierd d-r
3. gAY Y § U 1 od &1 ol
4. T Y & ROREAE g
Options 1. 1
2.2
3.3
4.4
Question Type
Question ID :
Option 11D :
Option 21D :
Option 3 1D
Option 4 ID
Status
Chosen Option :

: MCQ

3421236922
34212326961
34212326962

1 34212326963
1 34212326964
- Answered

3




Q.144

Comprehension:
FrafaRad samu o aFYd® ufen iR dafia vyl & I difve:

Hale T &1 Eed A5 g1 Faigd &I 4 § Gad! JAd 3R IgH Y g, gad
OREcH | gag URadH SRR, QY& 3R AR &1 TefaR & 9d W & 8, 9 3R
SN T BT ¢ GO 1M I5i- AR AFT ¢ qUl 99 9% H U@ g1 o 3l i
HR B TR 3R T TUT HI Ud 3 SGuTiRal Bl Uhdl WIHR &I g1 AgHr H SHad
N BT AHIE & 7L, UF 3T guife +i 31 78 99 @ Aie, e snfe A fim gl g 1 2w
SIS T SR-cnT, GRrER UM SR Ul (619 1 &1 9999 ¢ | 39 9099 &1 Ugell d o,
Sl MG B §, GO dWId HIGAT ST UG § 3R AR d Wya: fidl o1 JHE § | U8
S D1 Uit & fw TMielt 3 31 Bl AW D AHI g AR AHAYNS & 61U 2= "al Bl
Uifd 318 & AT &l R IS |

24 oRE Tl & SiiaaRH A 3R dU &1 U g 921 Y1 3R 36 &1 [dREPR | Hel §
1t 3517 R IR I W & 99 381, Yex B 35 37 a1 T A1 al A JF1 31 SRdiaR
fobar |

U HRUT FHA Bl & [0 S GGl & Ui Tiei-aE 1 S gyl el e | oRg
DAl HS ATl &b G | g1 A G, 3T iU GraHiE g, 7 98 Ul & Hide uga
T, Tg il S BT 2ATIE U7 | HdAThR Sl & Ufd 0 Soal & 999§ 9od 9ied 18,
Tt B AT TNl TG B Tl | ol B ¥ &1 Sare] T 3 SHSBT ST
WaR $l, Dl o gray ifa, fRdeidr 3k Iuifiar 4 =3¢l 2, daa di<f 9 g - a8
BT Ured 3R Hdl DI 9 THH o ¢ T g Sl U Hdl & 3R 48 Ured § 3R a8
=fifer. feqeivar 3R Suzifirar § firg 7t €1 Gl e & 3uR Fiid sefu Ay & fp -0
T SR Afae SAfa W s g |

SubQuestion No : 144

YU ARl b YR TR g & Yoo ¥ Iugerd [ddR S H 91 82
1. Tt i Sitq i 5T 1 $i =T

2. Sital ¥ Uy fdhar sy
3. S AN, =RIR UH 3R g (b Hid
4. Ul B Sfldq BT HUDR

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3421236924
34212326969
34212326970
34212326971
34212326972
Answered

3




Q.145

Comprehension:
FrafaRad samu o aFYd® ufer iR Safia vyl & I difve:

Haled T &1 gD e g1 Haied $ Y § Gad! JAd 3R I9H] &Y g, gad
GREcH | gag URadH SRR, QY& 3R SR &1 TefaR & 7d W & ¢, 9d 3R
SN T BT g1 GO 1M I5i- AR AFT ¢ qUl 99 g% H U g1 o 3l i
HR B TR 3R TS TUT HI Ud 3 SauTial Bl Uehdl WIHR &I g1 3AgH | SHad
29 & 341G g1 a1, UH & Juid o 31 78 uH wrd, 718, amfda onfe G M grar g 1 39
SIS T SR-cnT, =RIER UM SR Ul (619 1 &1 9999 ¢ | 39 Y999 &1 Ugell a o,
Sl 3G B §, GO dWId HIGAT $I UG § 3R AR d Wya: Hidl o1 JHE § | U8
g Bt it & faw el 3 31 BT AW S AHT g AR AHAYNS & 6T 2= Iadl B
Uifd 318 & A &I SR TS |

24 oRE Tl & SiiaaR A 3R dU &1 U g 921 Y1 3R 36 &1 [REPR | Hell §
1t 3517 R SIR U W & 99 &, Yex &I 35 37 aF1 ¥ A1 dl S JF1 a1 SRdlaR
febar |

U BRYT S Bl & o o fidl & ufa mieh-a=H 7 oS geryfa 78 firad | oRg
DAl HS ATl &b AT H g1 A 3G, 39D U GraHiE g, 3 98 Ul & HiHde ugd
T, Tg il S BT 2ATIE U7 | HAThR Sl & Uld 0 Soal & 999§ 9d 9ied 13,
Tt B AT TNl TG B Tl | ol B ¥ &1 Sare] T 3 SHSBT ST
WiaR oI, Dol o gray Hifa, iRdeivdr 3k Iudifiiar 4 ¢l ¢, daa di<f 9 ¢ - a8
Tl Grad 3R Hdl Bl 9 THIH ST ¢ T ol a9 hdl &l 3R 45 r<ed ¢ 3R a8
. eaeifar 3R STEfiar I firg 7 8 dban e & 3 uR Wi sufiu 98 € 5 -7
T SR Afae SAfa W s g |

SubQuestion No : 145

Options 1. 1

‘Dl Dl & [0 id 9 e &= ° Sis YgrHfd w761 &2
1. el DI I5Y 3fgedigai g
2. HATHR AT bdodl &b Ui FoitT gl S ¢
3. &l &1 el Y R gl gl
4. I, fgIpTRdT, SUARTAT &l ST HHT SIS |
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3421236925
34212326973
34212326974
34212326975
34212326976
Answered

3




Comprehension:
frrafafad sramu o aFyde gl iR dafta wei & g i

9 3PS AU, YR DT 9gd 8l aR1 81d 4T YRAar™! 0= 2iiery &1 4d 9% 2: d S dldl
H1, Y o= I 1 YA Sidb H gl AFd ¥ | Jafdral &1 [y Sl YR H 9gd &1 8 =l o1
TE1 U1 3H BId | MR 2R 1 9¢ T ATl YA 3R ¥ & Uid Yl gARI $15 $dA 5, 39
91 B AN faedd & YeT 96 31 39 TR F 19 Ugd-ugd IS a1 & gRI & 98 ad
3MMqaid g1, o] 3=y QHEID 4T, Sl dhdel U Bl gl o], U G- 3R G bl
UgdH- BI 3391 3@d1 1| §19 3R o2 & Ul S 7d19 a1 o, 39 & Hidw 9 garl
R[oHid, QTSI 3R i Sifcral 1 S gl g | "HTioih o gl 98 701 8 ol 311 &
3d HRAGRN @1 UIEH S1udl Hgiie YRAdR U fayad &l ¢ 3R 98 da-l YRd 3l
TR Tudh I et g1 I8 31 ¢ 1 URATG Sl Bl iR1eM Ud 2Aefayy &1 Jhasdg! 9
T 3Yal I HieR WIfRie faari &1 URT S &1 S SfUsl et 3 et faa, famd,
T3 (491 & UER U 4 R SR 31Y-Y-319 51 11 s 12081 H1 Ub - 98aH YR Ug gl
o Sl & IR ¥ R & doiqul [daR! &7 Yaq SHd-dHd Rdd HRAay & TS
a1 1 913 85| U¥hd & TG 0@ MY 81 & HRUI Ugd i 9R1 YRd U o, feg 9%pd
D1 YRA U a1 Ui TR 3T, 39U % 3119 YR 39 Ui &1 gl 1l

HIY 921 91 98 g 1 od SHYSH HINT YR H 391 Uid Urell 21 1. 31 3l 90y, grig 4
A1, AP, TS SR 3aR Ya1eHl & 9ReR i 9d 3¢ 41 H3Regal 9al &
TRIT & BideR! [TaR & Sl 31 I U, 3Fd gadd! AR Hifaal & a1g SHad! gt §
SHIBR 3Ah (Rl 5 &= &1 =Y o fer 3R d WY I 3Hialferd o @l [q9R! &1 g8
ST gt URT! 8 9 38T 41 Ug Hiadl, Aled, SU-AT, a1, e, g2, YT 3R
IRATY TUT ISP Gl U9 TREBRI & W4l § ¥, Yd-6-94, 34 [9aRT 9, fid-Uid 81 |
4| W RIRR ifd BT adad], YHHT 3R YIged” dicll AgH 3qHIY 3id [UHedh JGRddlG H
Tl AT T | e 370108 | Y GG B GURT S b THNM H<Ie 9d 381 4T | Ied
e 3] ¢ Torgd ifUP-- it Tl &1 Sie-H-34ad Fl 8l ¥ 3R U 3Fd 3=
AR S3cius H o gid gld o1 3g 4

SubQuestion No : 146

Q.146
IUYar TR0 & YR TR YR GHIS 3R &2 & Uid SHeiod fh8 RO Yel §T A2
1. gricTide
2. qEIRadl
3. &R
4. dgiadad
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3421236928
34212326981
34212326982
34212326983
34212326984
Answered

4




Comprehension:
frrafafad sramu of aFyde uftr iR dafta wal & IR i

STd 3PS 1Y, YR BT 9gd 8l &R1 81d U1 YRIar! 0+ 2iiery &1 4d 9 2: d S dldl
H1, Y o= I 1 YA Sidb H gl AFd ¥ | Jafdral &1 [y Sl YR H 9gd &1 8 =l o1
TE1 U1 3H BId | MR 2R 1 9¢ T ATl YA 3R ¥ & Uid Yl gARI $15 $dA 5, 39
91 B AN faedd & YeT 96 31 39 TR F 19 Ugd-ugd IS a1 & gRI & 98 ad
3MMqaid g1, Tord] 3=y QHEISD 4T, Sl dhdel U BI gl o], U G0 3R G bl
UgdH- ®I 3591 3@dl 1| §H19 3R &% & Ul S 7d19 a1 o, 39 & Hid 9 garl
o, G 3R lffic ifcral 1 ST gl g | "HTieih o gl g 701 8 Sl 31 &
3d HRAGRN @1 UIEH S1udl Hgiie YRAdR U fayad &l ¢ 3R 98 da-l YRd 3l
TR Tudh I et g1 I8 31 ¢ 1 URATG Sl Bl iR1eM Ud 2Aefayy &1 Jhasdg! 9
T 3Yal I HieR WIfRie faari &1 URT S &1 S SfUsl et 3 et faa, famd,
93 fae & UaR U U UR 1 31U-Y-3{U §1 W1 A3 R1& &1 Udb S0 9¥ad URUIT 4g gall
& 3Tl & IR ¥ R & doiqul [9aR! &7 Yaq SHd-dHd [T HRAay S JF-bS
UHdI 1 3G 85| TXd & GrdG Ad U g4 & HROL, Ugd * §RT YR U ¥, faeg wd
D1 YRA U a1 Ui TR 3T, 39U % 3119 YR 39 Ui &1 gl 1l

HIY 921 91 98 g 1 od SHYSH HINT YR H 391 Uid Urell 21 1. 31 3l 90y, grig 4
A1, AP, TS SR 3aR Ya1eHl & SGReR i 9d 3¢ 41 A3Real 9al &
TR & HildBRI [TGRT & S Tl IUH 8L, 39 gardal AR Hifadl & &g Iuadl 9ol §
B 3Ah [G9RI 5 &= &1 =Y o e’ 3R d WY I 3Hialferd o ol [q=R! &1 g8
ST gt URT! 8 9 38T 41 Ug Hiadl, Aled, SU-AT, a1, e, g2, YT 3R
IRATY TUT ISP Gl U9 TREBRI & W4l § ¥, Yd-6-94, 34 [9aRT 9, fid-Uid 81 |
4| W RIRR ifd BT adad], YHHT 3R YIged” dicll AgH 3qHIY 3id [UHedh JGRddlG H
Tl AT T | e 370108 | Y GHY B GURT B b THNM H<Iel 9d 381 4T | Ied
e 33T ¢ Tored iU --offerd Tl &1 SifUe-H-34@d H g, ¥ 3R U oFd 3=
AR 23cius 1 i g1d gld ST g 4l

SubQuestion No : 147

147 5 .
? e ARV & YR UR G DI I U1 g Sl SNd YRAGR &1 W= SR IR
HRAATE ¥ fqHRT B 82
L. Iaﬁlﬁ' aﬂq
2. RS T
3. 3@ AT
4. AT I
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3421236930
34212326989
34212326990
34212326991
34212326992
Answered

4




Comprehension:
frrafafad sramu o aFyde gl iR dafta wei & g i

9 3PS AU, YR DT 9gd 8l aR1 81d 4T YRAar™! 0= 2iiery &1 4d 9% 2: d S dldl
H1, Y o= I 1 YA Sidb H gl AFd ¥ | Jafdral &1 [y Sl YR H 9gd &1 8 =l o1
TE1 U1 3H BId | MR 2R 1 9¢ T ATl YA 3R ¥ & Uid Yl gARI $15 $dA 5, 39
91 B AN faedd & YeT 96 31 39 TR F 19 Ugd-ugd IS a1 & gRI & 98 ad
3MMqaid g1, o] 3=y QHEID 4T, Sl dhdel U Bl gl o], U G- 3R G bl
UgdH- BI 3391 3@d1 1| §19 3R o2 & Ul S 7d19 a1 o, 39 & Hidw 9 garl
R[oHid, QTSI 3R i Sifcral 1 S gl g | "HTioih o gl 98 701 8 ol 311 &
3d HRAGRN @1 UIEH S1udl Hgiie YRAdR U fayad &l ¢ 3R 98 da-l YRd 3l
TR Tudh I et g1 I8 31 ¢ 1 URATG Sl Bl iR1eM Ud 2Aefayy &1 Jhasdg! 9
T 3Yal I HieR WIfRie faari &1 URT S &1 S SfUsl et 3 et faa, famd,
T3 (491 & UER U 4 R SR 31Y-Y-319 51 11 s 12081 H1 Ub - 98aH YR Ug gl
o Sl & IR ¥ R & doiqul [daR! &7 Yaq SHd-dHd Rdd HRAay & TS
a1 1 913 85| U¥hd & TG 0@ MY 81 & HRUI Ugd i 9R1 YRd U o, feg 9%pd
D1 YRA U a1 Ui TR 3T, 39U % 3119 YR 39 Ui &1 gl 1l

HIY 921 91 98 g 1 od SHYSH HINT YR H 391 Uid Urell 21 1. 31 3l 90y, grig 4
A1, AP, TS SR 3aR Ya1eHl & 9ReR i 9d 3¢ 41 H3Regal 9al &
TRIT & BideR! [TaR & Sl 31 I U, 3Fd gadd! AR Hifaal & a1g SHad! gt §
SHIBR 3Ah (Rl 5 &= &1 =Y o fer 3R d WY I 3Hialferd o @l [q9R! &1 g8
ST gt URT! 8 9 38T 41 Ug Hiadl, Aled, SU-AT, a1, e, g2, YT 3R
IRATY TUT ISP Gl U9 TREBRI & W4l § ¥, Yd-6-94, 34 [9aRT 9, fid-Uid 81 |
4| W RIRR ifd BT adad], YHHT 3R YIged” dicll AgH 3qHIY 3id [UHedh JGRddlG H
Tl AT T | e 370108 | Y GG B GURT S b THNM H<Ie 9d 381 4T | Ied
e 3] ¢ Torgd ifUP-- it Tl &1 Sie-H-34ad Fl 8l ¥ 3R U 3Fd 3=
AR S3cius H o gid gld o1 3g 4

SubQuestion No : 148

.148
a JURE AR b YR UR 3T <2 3R FAR Bl UgaH- &1 331 [ HRU 3EH 32
1. ST 2T °
2. 3l Rem g
3. oSl HHAT Y
4. 31T HHTRET
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

MCQ
3421236929
34212326985
34212326986
34212326987
34212326988
Answered

2




Comprehension:
FrafaRad samu o aFYd® ufer iR Safia vyl & I difve:

9 3PS AU, YR DT 9gd 8l aR1 81d 4T YRAar™! 0= 2iiery &1 4d 9% 2: d S dldl
H1, Y o= I 1 YA Sidb H gl AFd ¥ | Jafdral &1 [y Sl YR H 9gd &1 8 =l o1
T8 1. 3Y BId | MR 2R 1 9¢ T ATl YA 3R % & Uid Yl §AR1 $15 HdA 5, 39
91 P AN faedd &1 Ye 96 31 39 TR F 19 Ugd-ugd IS a1 & gRI € 98 e
3ffaald g, Torad®T o=y QHEIS® Ul, Sl dhad 3{U BI gl el 3 &0 3R G &l ot
UgdH- BI 3391 3@d1 1| §19 3R o2 & Ul S 7d19 a1 o, 39 & Hidw 9 garl
R[oHid, QTSI 3R i Sifcral 1 S gl g | "HTioih o gl 98 701 8 ol 311 &
3d HRAGRN @1 UIEH S1udl Hgiie YRAdR U fayad &l ¢ 3R 98 da-l YRd 3l
TR Tudh ¥ et g1 I8 31 ¢ 1 URTF Sl Bl =18 Ud 2Aefayy &1 Shadg! d
FSM Yl IHd iR WIRie [9aRl &1 URT S &1 S U D! 3 751 6, fa,
T3 (921 & UER U 4 R S/ 31Y-Y-319 51 11 s 12081 ST b S 95aH YR Ug gl
o Sl & IR ¥ R & doiqul [daR! &7 Yaq SHd-dHd Rdd HRAay & TS
a1 1 913 85| U¥hd & TG 0@ MY 81 & HRUI Ugd i 9R1 YRd U o, feg 9%pd
D1 YRA U a1 Ui TR 3T, 39U % 3119 YR 39 Ui &1 gl 1l

T So1 910 98 s [0 od SHUSi HINT HIRd H 301 9id Trent 31 1. 31 S 73, grig o
WA, AT, Ul 3R 3R Ya-1eHl & SRGR el 9d 3¢ 41 3BReEal Ul &
TRIT & BideR! [TaR & Sl 31 I U, 3Fd gadd! AR Hifaal & a1g SHad! gt §
SHIBR 3Ah (Rl 5 &= &1 =Y o fer 3R d WY I 3Hialferd o @l [q9R! &1 g8
ST gt URT! 8 9 38T 41 Ug Hiadl, Aled, SU-AT, a1, e, g2, YT 3R
AT TUT AS® Gl U WRBRI & W4 J ¥, Ja-5-94, 34 [9aRT 9, fid-U1d 81 |
2| I i BT Tacdad], GHHEdT 3R YIged” dicll HgH 3qHlY 3d [Uaedh? 3GRdldlg H
Tl AT T | e 330708 | Y GHY B GURT B b THNEM I 9d 381 4T | Ied
e 3] ¢ Torgd ifUP-- it Tl &1 Sie-H-34ad Fl 8l ¥ 3R U 3Fd 3=
AR S3cius H o gid gld o1 3g 4

SubQuestion No : 149

Q.149 : :
S 3fAaRUl & YR WR G sifd & T Iguy & fie 81 g1
1. YIged
2. WAl
3 HHMHE
4.3 e qd
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option2 D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3421236932
34212326997
34212326998
34212326999
34212327000
Answered

4




Comprehension:
frrafafad sramu o aFyde gl iR dafta wei & g i

9 3PS AU, YR DT 9gd 8l aR1 81d 4T YRAar™! 0= 2iiery &1 4d 9% 2: d S dldl
H1, Y o= I 1 YA Sidb H gl AFd ¥ | Jafdral &1 [y Sl YR H 9gd &1 8 =l o1
TE1 U1 3H BId | MR 2R 1 9¢ T ATl YA 3R ¥ & Uid Yl gARI $15 $dA 5, 39
91 B AN faedd & YeT 96 31 39 TR F 19 Ugd-ugd IS a1 & gRI & 98 ad
3MMqaid g1, o] 3=y QHEID 4T, Sl dhdel U Bl gl o], U G- 3R G bl
UgdH- BI 3391 3@d1 1| §19 3R o2 & Ul S 7d19 a1 o, 39 & Hidw 9 garl
R[oHid, QTSI 3R i Sifcral 1 S gl g | "HTioih o gl 98 701 8 ol 311 &
3d HRAGRN @1 UIEH S1udl Hgiie YRAdR U fayad &l ¢ 3R 98 da-l YRd 3l
TR Tudh I et g1 I8 31 ¢ 1 URATG Sl Bl iR1eM Ud 2Aefayy &1 Jhasdg! 9
T 3Yal I HieR WIfRie faari &1 URT S &1 S SfUsl et 3 et faa, famd,
T3 (491 & UER U 4 R SR 31Y-Y-319 51 11 s 12081 H1 Ub - 98aH YR Ug gl
o Sl & IR ¥ R & doiqul [daR! &7 Yaq SHd-dHd Rdd HRAay & TS
a1 1 913 85| U¥hd & TG 0@ MY 81 & HRUI Ugd i 9R1 YRd U o, feg 9%pd
D1 YRA U a1 Ui TR 3T, 39U % 3119 YR 39 Ui &1 gl 1l

HIY 921 91 98 g 1 od SHYSH HINT YR H 391 Uid Urell 21 1. 31 3l 90y, grig 4
A1, AP, TS SR 3aR Ya1eHl & 9ReR i 9d 3¢ 41 H3Regal 9al &
TRIT & BideR! [TaR & Sl 31 I U, 3Fd gadd! AR Hifaal & a1g SHad! gt §
SHIBR 3Ah (Rl 5 &= &1 =Y o fer 3R d WY I 3Hialferd o @l [q9R! &1 g8
ST gt URT! 8 9 38T 41 Ug Hiadl, Aled, SU-AT, a1, e, g2, YT 3R
IRATY TUT ISP Gl U9 TREBRI & W4l § ¥, Yd-6-94, 34 [9aRT 9, fid-Uid 81 |
4| W RIRR ifd BT adad], YHHT 3R YIged” dicll AgH 3qHIY 3id [UHedh JGRddlG H
Tl AT T | e 370108 | Y GG B GURT S b THNM H<Ie 9d 381 4T | Ied
e 3] ¢ Torgd ifUP-- it Tl &1 Sie-H-34ad Fl 8l ¥ 3R U 3Fd 3=
AR S3cius H o gid gld o1 3g 4

SubQuestion No : 150

Q.150 i
S AR & SR TR UGl & R 9 R & do1qu faari = fead afs 3f 2
1. Ay Thdl
2. ST Thdl
3. YTIfeies Ul
4. GiEpidd Thdl
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status
Chosen Option :

MCQ
3421236931
34212326993
34212326994
34212326995
34212326996

- Answered

1




